BID NAME/NUMBER: 23-171-01-11 / Waterline Maintenance Supplies for the Public Works Department OPEN DATE: January 18, 2023 2:00 PM CST

	\bigcirc		ME/NUMBER:			itenance Supplie	es for the
	MISSION			Public Works D		<u> </u>	
				January 18, 202	23 2:00 PM CS	ST	
						Core & Main LP, fka	/ HD Supply
- 1			Vendor Name:	Ferguson Waterwor	ks	Waterworks	
	• 6 6	S	Street address:	1900 W. Expresswa	y 83	100 N. 1st St.	
	and a line of the		City States	Missian TV 70570	•		
	T - Ju		City, State.	Mission, TX 78572		McAllen, TX 78501	
	OUNDED IN 18		Phone:	(956) 584-8199		956-631-3341	
	DED IN		Fax:	(956) 584-7487		956-687-5918	
			Contact:	Frank Guerra		Roel Garza	
			Email:	frank.guerra@fergus	on.com	jennifer.pinales@cor	eandmain.com
DESC	RIPTION:	UOM	Est. Quantity	Unit Price	Ext.	Unit Price	Ext.
	3/4" LINEAR FEET OF POLYETHYLENE TUBING AWWA						
1	C-901	Feet	2,000	\$0.48	\$960.00	\$0.40	\$800.00
	1" LINEAR FEET OF POLYETHYLENE TUBING AWWA C-						
2	901	Feet	2,000	\$0.81	\$1,620.00	\$0.67	\$1,340.00
	1" MIPT x COMPRESSION CORP. STOP (S1100-4 OR		, í		. ,	· ·	
3	EQUAL)	Each	50	\$71.16	\$3,558.00	\$52.54	\$2,627.00
4	3/4" 3-PART UNION (C44-33 OR EQUAL)	Each	150	\$22.03	\$3,304.50		\$2,910.00
	1" 3-PART UNION (C44-33 OR EQUAL)	Each	150	\$25.19	\$3,778.50	\$22.19	\$3,328.50
<u> </u>	1" x 3/4" 3-PART UNION (C44-33 OR EQUAL)		50	\$25.19			\$3,328.50
	3/4" METER COUPLING	Each			\$1,279.50	\$23.48	
6		Each	100	\$10.56	\$1,056.00	\$7.90	\$790.00
7	1" METER COUPLING	Each	50	\$16.93	\$846.50	\$10.84	\$542.00
	1" x 3/4" METER NUT X COMPRESSION ANGLE STOP						
8		Each	100	\$53.11	\$5,311.00	\$46.76	\$4,676.00
9	1" METER NUT X COMPRESSION ANGLE STOP	Each	100	\$65.71	\$6,571.00	\$57.86	\$5,786.00
10	3/4" METER NUT X COMPRESSION ANGLE STOP	Each	150	\$48.03	\$7,204.50	\$42.27	\$6,340.50
11	1" COMPRESSION x 3/4" U-BRANCH	Each	10	\$109.10	\$1,091.00	\$75.25	\$752.50
12	3/4" ANGLE STOP U-BRANCH	Each	100	\$37.55	\$3,755.00	\$33.07	\$3,307.00
13	24" MANHOLE COVER	Each	75	\$148.84	\$11,163.00	\$166.03	\$12,452.25
14	24" MANHOLE RING AND COVER	Each	50	\$319.77	\$15,988.50	\$342.89	\$17,144.50
15	24" BOLT DOWN MANHOLE RING AND COVER	Each	20	\$382.56	\$7,651.20	\$441.19	\$8,823.80
16	30" MANHOLE COVER	Each	10	\$223.26	\$2,232.60		\$2,166.70
	30" MANHOLE COVER 30" MANHOLE RING AND COVER						
17		Each	10	\$401.17	\$4,011.70	\$399.13	\$3,991.30
18	30" BOLT DOWN MANHOLE RING AND COVER	Each	5	\$423.26	\$2,116.30	\$484.65	\$2,423.25
19	2" DRESSER (2.34" - 2.63")	Each	40	\$39.63	\$1,585.20	\$36.80	\$1,472.00
20	4" x 10" DRESSER (4.22" - 5.66")	Each	20	\$122.73	\$2,454.60	\$113.96	\$2,279.20
21	6" x 10" DRESSER (6.23" - 7.60")	Each	20	\$173.05	\$3,461.00	\$160.69	\$3,213.80
22	8" x 10" DRESSER (8.40" - 9.75")	Each	40	\$201.91	\$8,076.40	\$187.48	\$7,499.20
23	10" x 10" DRESSER (10.50" - 12.12")	Each	10	\$343.62	\$3,436.20	\$319.08	\$3,190.80
24	12" x 10" DRESSER (12.50" - 14.38")	Each	10	\$416.36	\$4,163.60	\$386.62	\$3,866.20
25	16" X 10" DRESSER (17.32" - 19.20")	Each	4	\$644.83	\$2,579.32	\$598.77	\$2,395.08
26	2" x 7" 2.35-2.63 FULL CIRCLE CLAMP	Each	40	\$57.73	\$2,309.20		\$2,144.40
27	4" x 7" 4.74-5.14 FULL CIRCLE CLAMP	Each	40	\$72.25	\$2,890.00		\$2,683.60
28	4" x 7" 4.95-5.35 FULL CIRCLE CLAMP	Each	60	\$73.02	\$4,381.20	\$67.80	\$4,068.00
29	4" x 7" 5.22-5.62 FULL CIRCLE CLAMP	Each	10	\$73.94	\$739.40	\$68.66	\$686.60
30	6" x 7" 6.85-7.24 FULL CIRCLE CLAMP	Each	40	\$81.64	\$3,265.60	\$75.81	\$3,032.40
30	6" x 7" 7.05-7.45 FULL CIRCLE CLAMP	Each	40	\$82.86	\$3,314.40	\$75.01	\$3,032.40
_	6" x 7" 7.45-7.85 FULL CIRCLE CLAMP						
32		Each	10	\$84.99	\$849.90	\$78.92	\$789.20
33	8" x 7" 8.99-9.39 FULL CIRCLE CLAMP	Each	20	\$97.66	\$1,953.20	\$90.69	\$1,813.80
34	8" x 7" 9.27-9.67 FULL CIRCLE CLAMP	Each	30	\$99.82	\$2,994.60	\$92.69	\$2,780.70
35	10" x 7" 11.04-11.44 FULL CIRCLE CLAMP	Each	5	\$118.87	\$594.35	\$110.38	\$551.90
36	10" X 7" 11.34-11.74 FULL CIRCLE CLAMP	Each	5	\$118.87	\$594.35	\$110.38	\$551.90
37	10" x 7" 11.75-12.15 FULL CIRCLE CLAMP	Each	5	\$121.40	\$607.00	\$112.73	\$563.65
38	12" x 7" 13.10-13.50 FULL CIRCLE CLAMP	Each	5	\$134.07	\$670.35	\$124.49	\$622.45
39	12" x 7" 14.00-14.40 FULL CIRCLE CLAMP	Each	5	\$141.66	\$708.30	\$131.55	\$657.75
40	4" x 12" 4.74-5.14 FULL CIRCLE CLAMP	Each	5	\$113.62	\$568.10		\$526.35
41	4" x 12" 4.95-5.35 FULL CIRCLE CLAMP	Each	5	\$119.32	\$596.60	\$110.80	\$554.00
42	4" x 12" 5.22-5.62 FULL CIRCLE CLAMP	Each	5	\$121.99	\$609.95	\$113.28	\$566.40
43	6" x 12" 6.85-7.24 FULL CIRCLE CLAMP	Each	5	\$130.57	\$652.85	\$121.25	\$606.25
44	6" x 12" 7.05-7.45 FULL CIRCLE CLAMP	Each	5	\$130.57	\$663.55	\$123.23	\$616.15
	6" x 12" 7.45-7.85 FULL CIRCLE CLAMP						
45		Each	5	\$136.49	\$682.45	\$126.74	\$633.70
46	8" x 12" 8.99-9.39 FULL CIRCLE CLAMP	Each	5	\$156.39	\$781.95	\$145.22	\$726.10
47	8" x 12" 9.27-9.67 FULL CIRCLE CLAMP	Each	5	\$159.83	\$799.15		\$742.05
48	10" x 12" 11.04-11.44 FULL CIRCLE CLAMP	Each	5	\$184.64	\$923.20	\$171.45	\$857.25

49	10" x 12" 11.34-11.74 FULL CIRCLE CLAMP	Each	5	\$192.23	\$961.15	\$178.50	\$892.50
50	10" x 12" 11.75-12.15 FULL CIRCLE CLAMP	Each	5	\$196.04	\$980.20	\$182.04	\$910.20
51	12" x 12" 13.10-13.50 FULL CIRCLE CLAMP	Each	5	\$215.77	\$1,078.85	\$200.36	\$1,001.80
52	12" x 12" 14.00-14.40 FULL CIRCLE CLAMP	Each	5	\$225.10	\$1,125.50	\$209.03	\$1,045.15
53	8" x 15" 8.99-9.39 FULL CIRCLE CLAMP	Each	5	\$186.34	\$931.70	\$173.04	\$865.20
54	8" x 15" 9.27-9.67 FULL CIRCLE CLAMP		5				
		Each		\$189.03	\$945.15	\$175.53	\$877.65
55	10" x 15" 11.04-11.44 FULL CIRCLE CLAMP	Each	5	\$232.70	\$1,163.50	\$216.08	\$1,080.40
56	10" x 15" 11.34-11.74 FULL CIRCLE CLAMP	Each	5	\$237.76	\$1,188.80	\$220.78	\$1,103.90
57	10" x 15" 11.75-12.15 FULL CIRCLE CLAMP	Each	5	\$246.10	\$1,230.50	\$228.53	\$1,142.65
58	12" x 15" 13.10-13.50 FULL CIRCLE CLAMP	Each	5	\$268.12	\$1,340.60	\$248.97	\$1,244.85
59	12" x 15" 14.00-14.40 FULL CIRCLE CLAMP	Each	5	\$280.75	\$1,403.75	\$260.70	\$1,303.50
60	16" x 15" 17.65-18.90 FULL CIRCLE CLAMP	Each	5	\$745.26	\$3,726.30	\$692.03	\$3,460.15
61	16" x 15" 17.10-17.50 FULL CIRCLE CLAMP	Each	5	\$325.77	\$1,628.85	\$302.50	\$1,512.50
62	16" x 15" 17.15-17.90 FULL CIRCLE CLAMP	Each	5	\$556.59	\$2,782.95	\$516.83	\$2,584.15
63	16" x 15" 17.16 17.50 FOLL CIRCLE CLAMP	Each	5				
	4" SEWER REPAIR COUPLING PVC-PVC GxG SDR26	-	50	\$578.70	\$2,893.50	\$537.36	\$2,686.80
64		Each		\$25.79	\$1,289.50	\$34.69	\$1,734.50
65	6" SEWER REPAIR COUPLING PVC-PVC GxG SDR26	Each	30	\$50.46	\$1,513.80	\$69.48	\$2,084.40
66	8" SEWER REPAIR COUPLING PVC-PVC GxG SDR26	Each	20	\$82.88	\$1,657.60	\$114.13	\$2,282.60
67	10" SEWER REPAIR COUPLING PVC-PVC GxG SDR26	Each	4	\$158.45	\$633.80	\$144.07	\$576.28
68	12" SEWER REPAIR COUPLING PVC-PVC GxG SDR26	Each	4	\$230.05	\$920.20	\$209.19	\$836.76
69	15" SEWER REPAIR COUPLING PVC-PVC GxG SDR26	Each	4	\$581.77	\$2,327.08	\$442.07	\$1,768.28
70	4" RUBBER FERNCO COUPLING PVC-CLAY	Each	100	\$5.45	\$545.00	\$4.65	\$465.00
71	6" RUBBER FERNCO COUPLING PVC-CLAY	Each	50	\$11.79	\$589.50	\$9.93	\$496.50
72	8" RUBBER FRENCO COUPLING PVC-CLAY	Each	20	\$18.14	\$362.80	\$15.28	\$305.60
73	10" RUBBER FRENCO COUPLING PVC-CLAY	Each	10	\$27.23	\$272.30	\$13.20	\$229.30
	10" RUBBER FRENCO COUPLING PVC-CLAY						
74		Each	10	\$31.77	\$317.70	\$26.75	\$267.50
75	15" RUBBER FRENCO COUPLING PVC-CLAY	Each	4	\$49.95	\$199.80	\$42.07	\$168.28
76	16" RUBBER FRENCO COUPLING PVC-CLAY	Each	4	\$49.95	\$199.80	\$47.80	\$191.20
77	2" REPAIR COUPLING C160	Each	40	\$32.32	\$1,292.80	\$23.57	\$942.80
78	3" REPAIR COUPLING C160	Each	4	\$44.46	\$177.84	\$32.43	\$129.72
79	4" REPAIR COUPLING C160	Each	20	\$79.95	\$1,599.00	\$58.30	\$1,166.00
80	6" REPAIR COUPLING C160	Each	20	\$140.52	\$2,810.40	\$102.47	\$2,049.40
81	8" REPAIR COUPLING C160	Each	20	\$289.45	\$5,789.00	\$211.07	\$4,221.40
82	10" REPAIR COUPLING C160	Each	10	\$536.00	\$5,360.00	\$390.84	\$3,908.40
83	12" REPAIR COUPLING C160	Each	10	\$791.53	\$7,915.30	\$577.17	\$5,771.70
84	4" REPAIR COUPLING C900 (HARCO)	Each	10	\$79.55	\$795.50	\$58.47	\$584.70
	6" REPAIR COUPLING C900 (HARCO)						
85	× /	Each	20	\$122.00	\$2,440.00	\$89.67	\$1,793.40
86	8" REPAIR COUPLING C900 (HARCO)	Each	30	\$294.19	\$8,825.70	\$216.23	\$6,486.90
87	10" REPAIR COUPLING C900 (HARCO)	Each	10	\$619.11	\$6,191.10	\$455.05	\$4,550.50
88	12" REPAIR COUPLING C900 (HARCO)	Each	10	\$786.37	\$7,863.70	\$577.98	\$5,779.80
89	16" REPAIR COUPLING C900 (HARCO)	Each	10	\$1,305.00	\$13,050.00	\$959.19	\$9,591.90
90	4" MEGALUG (WITH ACCESSORIES)	Each	40	\$46.82	\$1,872.80	\$45.65	\$1,826.00
91	6" MEGALUG (WITH ACCESSORIES)	Each	40	\$58.44	\$2,337.60	\$57.15	\$2,286.00
92	8" MEGALUG (WITH ACCESSORIES)	Each	40	\$78.41	\$3,136.40	\$77.09	\$3,083.60
	10" MEGALUG (WITH ACCESSORIES)	Each	20	\$137.28	\$2,745.60	\$134.23	\$2,684.60
94	12" MEGALUG (WITH ACCESSORIES)	Each	30	\$144.10	\$4,323.00	\$140.87	\$4,226.10
95	16" MEGALUG (WITH ACCESSORIES)	Each	10	\$296.83	\$2,968.30	\$290.24	\$2,902.40
	VALVE BOXES W/COVER	Each	150	\$68.83	\$10,324.50	\$65.00	\$9,750.00
	24" CEMENT DONUT		100	\$00.03	\$10,324.50	\$05.00	
		Each					\$2,353.00
98	30" CEMENT DONUT	Each	50	\$27.00	\$1,350.00	\$29.42	\$1,471.00
	2" GATE VALVE WITH OPERATING NUTS THREAD x	1					<u></u>
99	THREAD	Each	40	\$391.70	\$15,668.00	\$386.49	\$15,459.60
100	3" GATE VALVE FL x FL	Each	4	\$569.59	\$2,278.36	\$566.62	\$2,266.48
101	4" GATE VALVE MJ x MJ	Each	10	\$641.83	\$6,418.30	\$633.15	\$6,331.50
102	4" GATE VALVE FL x FL	Each	4	\$635.98	\$2,543.92	\$627.35	\$2,509.40
103	4" GATE VALVE MJ x FL	Each	4	\$613.43	\$2,453.72	\$604.11	\$2,416.44
104	6" GATE VALVE FL x FL	Each	6	\$850.20	\$5,101.20	\$838.64	\$5,031.84
105	6" GATE VALVE MJ x MJ	Each	20	\$819.30	\$16,386.00	\$807.59	\$16,151.80
-	6" GATE VALVE MJ x FL	Each	10	\$819.30	\$8,193.00	\$807.59	\$8,075.90
100	8" GATE VALVE MJ x MJ	Each	20	\$1,303.70	\$26,074.00	\$1,286.22	\$25,724.40
-	8" GATE VALVE MJ x FL						
108	10" GATE VALVE MJ X FL	Each	4	\$1,279.89	\$5,119.56	\$1,261.96	\$5,047.84
		Each	2	\$2,032.38	\$4,064.76	\$2,005.46	\$4,010.92
110	10" GATE VALVE MJ x MJ	Each	4	\$2,032.38	\$8,129.52	\$2,005.46	\$8,021.84
111	12" GATE VALVE MJ x MJ	Each	4	\$2,571.89	\$10,287.56	\$2,537.64	\$10,150.56
112	12" GATE VALVE MJ x FL	Each	4	\$2,454.97	\$9,819.88	\$2,421.24	\$9,684.96
113	16" GATE VALVE MJ x MJ	Each	4	\$7,795.70	\$31,182.80	\$8,506.04	\$34,024.16
114	16" GATE VALVE MJ x FL	Each	2	\$7,795.70	\$15,591.40	\$8,506.04	\$17,012.08
				-			

	3" FIRE HYDRANT MUELLER, AMERICAN DARLING						
115	AND KENNEDY	Each	4	\$2,657.89	\$10,631.56	\$2,734.61	\$10,938.44
	4" FIRE HYDRANT MUELLER, AMERICAN DARLING	Lach	Ŧ	ψ2,007.03	ψ10,001.00	ψ2,7 04.01	ψ10,330.++
116	AND KENNEDY	Each	15	\$2,787.48	\$41,812.20	\$2,867.98	\$43,019.70
	5" FIRE HYDRANT MUELLER, AMERICAN DARLING	Lach	15	ψ2,707.40	ψ+1,012.20	ψ2,007.30	ψ+3,013.70
117	AND KENNEDY	Each	10	\$2,917.00	\$29,170.00	\$3,001.10	\$30,011.00
118	3/4" LINEAR FT. PVC SCH40	Feet	1,000	\$0.65	\$650.00	\$0.63	\$630.00
119	1" LINEAR FT. PVC SCH40	Feet	500	\$0.92	\$460.00	\$0.99	\$495.00
120	1 1/2" LINEAR FT. PVC SCH40	Feet	500	\$1.80	\$900.00	\$1.56	\$780.00
121	2" LINEAR FT. PVC SCH40	Feet	1,000	\$2.50	\$2,500.00	\$2.04	\$2,040.00
122	4" LINEAR FT. PVC SCH40	Feet	500	\$5.50	\$2,750.00	\$4.12	\$2,060.00
123	6" LINEAR FT. C900	Feet	500	\$13.25	\$6,625.00	\$14.42	\$7,210.00
124	8" LINEAR FT. C900	Feet	300	\$22.71	\$6,813.00	\$24.68	\$7,404.00
125	10" LINEAR FT. C900	Feet	200	\$34.07	\$6,814.00	\$36.85	\$7,370.00
126	12" LINEAR FT. C900	Feet	200	\$47.97	\$9,594.00	\$51.87	\$10,374.00
127	16" LINEAR FT. C900	Feet	100	\$85.00	\$8,500.00	\$94.12	\$9,412.00
128	4" LINEAR FT. SEWER PIPE DR26	Feet	500	\$3.51	\$1,755.00	\$3.82	\$1,910.00
129	6" LINEAR FT. SEWER PIPE DR26	Feet	500	\$7.88	\$3,940.00	\$8.53	\$4,265.00
130	8" LINEAR FT. SEWER PIPE DR26	Feet	300	\$14.26	\$4,278.00	\$15.50	\$4,650.00
131	10" LINEAR FT. SEWER PIPE DR26	Feet	100	\$22.19	\$2,219.00	\$24.00	\$2,400.00
132	12" LINEAR FT. SEWER PIPE DR26	Feet	100	\$31.91	\$3,191.00	\$34.53	\$3,453.00
133	15" LINEAR FT. SEWER PIPE DR26	Feet	50	\$47.89	\$2,394.50	\$51.79	\$2,589.50
134	6" CAST IRON CLEAN OUT BOOT	Each	10	\$122.50	\$1,225.00	\$105.59	\$1,055.90
135	4" PVC ADAPTER SCH 40 X SCH 35	Each	60	\$14.89	\$893.40	\$10.03	\$601.80
136	4" PUSH ON 45° SDR 26	Each	100	\$23.19	\$2,319.00	\$31.48	\$3,148.00
137	4" PUSH ON 45° SCH 40	Each	100	\$15.35	\$1,535.00	\$14.18	\$1,418.00
138	6" X 4" PUSH ON WYE	Each	20	\$68.77	\$1,375.40	\$57.28	\$1,145.60
139	8" X 4" PUSH ON WYE	Each	20	\$96.24	\$1,924.80	\$85.47	\$1,709.40
140	6" X 4" PVC TAP SADDLE W/SS STRAPS	Each	20	\$46.14	\$922.80	\$41.78	\$835.60
141	8" X 4" PVC TAP SADDLE W/SS STRAPS	Each	20	\$43.05	\$861.00	\$57.19	\$1,143.80
142	4" BACK WATER VALVE	Each	40	\$31.92	\$1,276.80	\$111.67	\$4,466.80
	Waterline Maintenance Supplies	Total	Base Amount		\$597,625.93		\$584,276.96
Delivery Days ofter receipt of purchase order			TBD ARO 15-30		Days		
Addendums			Yes		Ye	s	
1st Renewal				20.00% 5.00%		0%	
L	2nd Renewal			20.00% 7.00%			
				20.0	070	7.00	070

Apparent Lowest Responsible Bidder for Waterline Maintenance Supplies: Core & Main, LP Note:

BID NAME/NUMBER: 23-171-01-11 / Waterline Maintenance Supplies for the Public Works Department



OPEN DATE: January 18, 2023 2:00 PM CST

S Vend	dor Name:	Ferguson Waterworks	Core & Main LP, fka/ HD Supply Waterworks		
Street addre		1900 W. Expressway 83	100 N. 1st St.		
City, State:		Mission, TX 78572	McAllen, TX 78501		
Phone: ((956) 584-8199	956-631-3341		
F		(956) 584-7487	956-687-5918		
Contact:		Corey Ivie	Roel Garza		
	Email:	Troy.McCamish@Ferguson.com	jennifer.pinales@coreandmain.con		
DESCRIPTION of FORMS:					
Solicitation Signed		Yes	Yes		
Terms & Conditions		Yes	Yes		
Pricing Schedule		Yes	Yes		
Non-Collusive		Yes	Yes		
Addenda(s)		Yes	Yes		
Gen. Business Questionare		Yes	Yes		
References		Yes	Yes		
CIQ					